oM
el T: ¥ —/WL (UW) wech( o
/\}L\ ,\(’}b\_ m ) ) N
Ty = The T ) Il odiiiniy)
\_/'\‘t\ll - N N
W

&E llm;.L /\(T@, “'614)

\ =, ) =

Cﬁ\}\ z N TS NN A=0 &33&"_
Téoo\ = Du .l D vedhol 1q\ -

t\za?uu\ov \

E@Q\Mh.d‘
bo @ Thvxbn) - ﬂ(&.\f mm)
—bLO\,L “@s

Spors- - ead Voowis Be V-
Sopor. (T - - Teal = ?{u\_._. ““3 -

enomnd. du & nouboousis.
—A
Than T(0,¢« -+ «@n) = 0(Te x - - OnTay
O A~y
Wﬁ(_m;./\(oq_ Wﬂﬂmﬂ\“u&u’




Lonen: emoigudo huow ke booss dnsfoomas

(Ow\y g h\\m‘m woge d Tey o Tew ).

CNJ.DMV?,J oS o mnd M*Mv\\jq s o U naonr
Mgoww.

D T®) =4

L) () - iDr

b» Tr —,ﬁﬁ

&) R=R"  (fr wedicn)

) T(e) = pp’ 2

O) Giuewn T(D =+t Ty~ x , T(x%) 3%
Brd T (leeat cnougte & huso  hawo
bosis drans foms),

2.
u[ = %\ U, = x—l U, = 3w

T(a +bx «cX) = A ukbuyt Cug
= alye) +h(F) + c(3x42)




MPORTANT:  Given. ary Gwmaos  sraunsgouali
TR > RY e can Ewd sk

= DX Whare D .
(VR x v promdakion o Lintar dambovakion )
lodien oxn .

) Y o0sS
A (T(D(‘é(-—e - ‘?@u\eﬂ\ = O.T€| A4 - QV\TU
W oA

=0y A& 7t +dumq]w&

NLLU’

ay
el s

L Il

D (DNGIST S of Yy == -- Un vatz(un_p]

3
Q

& Tx a*u\‘b§ <m1 i 3N TZ@IQJ
(wg) & ® Disa 413 watix,

= Te U, = e, Uy = (€3
T(“OIQ) = (-ﬂ\) -4, 3 )0) T(Q,OI\\= [\IOIZ-I 0)
o S~ ) OuLEy B S
e 3
T(0,10) = (b,0,68/0)
——"

[



o

¥ 0\/
O "L 0
I\ .|..\. ~~
L
< \
D/.\ g
0 0\ \f
o
N
vm\¢\
)
— o &0
QO OO0
T 100
o

A

5 R’

Nt

S vpooahd oy

(

0

" —

1e e |

2




k {L\\M»
Ex 5615 C®R= fc[’ R—R: k outmugun
M\Jaﬁue)s,&‘\sabw w\'\wi

Ti o €7 defeed by Ty-y

440
L3

%\'\8‘\1\) T 18 “V\QDJ\( 6 (;n\&T/\MMI\(DVA&

y M E C LB e R

gt - #

T(ay.x By \ = [(dy4By N+ (dy+8y )
(Jl &/ \ \.ll | N=) i |(|)_/
= ofu's 9\t B[4 +4,) =0

(J d T vd2 <

Bolob &7 Hl\‘lﬁ YIS wit S‘,Cé(_;

S T I WO WA S

LBa ald  atb-c _[

S (™ b—\ o,(? Oﬂ\

k\f' AJ’\'W\‘\( é)

Mabyinodd 0O

of [Raxee oxfe)

N S D

. (Aax ph-Koupy) Vﬁr da ko S

& AN \
’ ]




Mok roddus & o

e
o ~Jdb 0 ’\
e +hok \
L i

o | PRty /oW\

S

- asf® y\ co 8|l

Lea b s ]




To 505 [ T be deforad an TIR R

T %y A = [ Brpe ¥y Sy Dy = 2,

[1*\’?2*7_’ ¥, “1'7%113

E\/\buﬁ\/\ o lyoh & actibn 5 T on  peN veckd

€y er! Fw @

T(0€+-- “’aqeu\\ = aTey +-- ‘Faquey

As aradti Wit LU adion
N ra
6;/(-:‘72\ - je.u rr1
@3] |
:A/& [ ) “621
R ot b sCusmn| dhun W downed .
AW
/\
@&
DI
5 0 9
4 2 A 1




F ‘T:f\f"*’ﬁl X.LQ.N_A lo;.f
T(1h0,0) = (WS) T(0:1,0)= (1,7

€ £y
T(24-3) = (7,-1)

P — PO (' . D4
4L weddd Sl Gy T &R St

bl Tap & wadit, So W wd

A

T <O1O\ ﬂ =71 (0[ (1o 0) ‘-FB (0\] OS'T_C‘ (27'7F3))

0]
AN I
Locos 3l L1
p,. ai'ub Csl\.
ry o 2 D
)0\ \(D = C:,-_,l b—"_(,
Lo 0 =5 t 3




)

3|5 |

S LN P A
3L
1P




)

T
Jy (mb)
Nifakion in \"Ma{m%e ]

T
FaLak

retakion B a

o™ e geangs®

T (~ —\\{\ Ty Ty

we haved dhved ohatipnih o dore waduomdid,
d
M%@ ov-Brocon tat- W s Uvean o

mL ‘, B J’b 1A .(i‘ on e MQL‘
o ba Te, = (1036, D) ’ki_? 9/*‘9
v I
(:‘ XL (95’0’)

Tz o\ [wo -8

(T;sh‘v\umg Wm@ébs(‘)w% Tom o bon§

%’HQL33 —

Wy —we | (2] [2eR-2ed \
i %&L \.,2)& ) \wiﬁl‘ug A+ 3l ’
We=x - [-/G)
“ g/\ﬁ




wrd. s .

V) Atwad 4

Raeg-(T)
:

shds &N
|
Fulorpocle

T
i L C_Qam = Aliw
() S

7 aw (o g (V) = @l
dawa
AUt (47

M
QALAASA_ /NQH((%/ Thoo

=4 A)&
~
1

lS TR

(&)

L = c{gpm

QGN&Z’(C} 3= aolspare (A)
b

Not
AAn oo e
%J\. . .
V=R amd
1 < ‘U‘;r/
S‘J‘kicajm ek o
fwi

Y Given TN —W
o

N e (6 m%?jg}
) D\ (La»{*t) Cgm& o



Tis liveewx TOy = D
her(ty = §xeV | Tx =03

B TR R T Te= DX

Bl (01T

het (T = Z‘&eﬁlv‘ S ’szoi = SsCubionspot.

o, Wy,

e [
\yv_vu

an (N = Ty yevd




sk p3: Shat with aloous g,( M(\/) :2@‘__.3‘&

“Ten (OHPLETE [T T0 %@L o bouss v\l
D0y by S - - O]

THEN . Ty --- T 18 a4 bousS hrlMGE

(M)

Avaliar oo &iom: Todenitn anstbosis 18-~ Jnd

o L8, - Teded S Kdue T Ta'ﬁ\n

0. bosdis

ol
e ’T/ n\ = (a-bxd) + [“Ok*\’"oq%
K C. ok } N —— T
_ " . ¥ weo
(D)
T HL\&L—_) (U ewdwcuw\\ua‘i‘ “Tis (i naan

() = {@: T$-=0 S= i@j . b d =]

-e+b ~d =D




"‘“’B ( >+ (22\+(§3

Aiwn (hax C'A) =3

dism (lun (Y« dion (0aa (7)) = dim By, =4

W
1

If $a, a, asqqi S o loonx &9'( V,

auy vearor 13,8, % %0, 5 5 g )

r"‘\
= qu. + \%’? £ Xy Tay 1 X Tay

_ —

$paw ?VTO«\ ¢ To, . Tay . T"“ij

:rau\(;/()

\ i O O _ - D
oo (G ) ws (Vo) % (o)
ACR = 4 !

Fnd o, Mok s idep. sf 0%y 05 oundBum

Gy o, 050 will fow o lbois.

G{’— Q \0 - 2 ! # \0—1 b :3 2—)

& Spom ? A o, Q&i

[



TA\ Taz Tab &\\ NUUJ)& Wop Yo . 0 \)K(am'w”‘!

Gaw  a a,a; € b (T

Taq = 'T(?; t\ = QQ"\"C\\—\- (_'7_'\\\'\\)‘&1

N
= Zfl)(z_: 2_(\—*2'\_

an (V7 520 ¢ 1=x"] di(ron (1Y) =)




2

T = 1 -X So s L 0¥ = souge (D .

2oty 2 (‘D&J‘é\‘t\l)"\-*ta)k‘>
Py = sp0n g Lk )

Ey. T (PL — fP,(\RS 2 et (1) = spon {0 T T4
Tlax v =) = (oY) + [ b-c)x

G W () | tange (D).

oy Dam does W OUM .
T Tan Sourdadd Sows 31, xS and

e T Q(lg_,d W\ﬁjg‘;w\ ?:‘_f ;—TX !szg

=W(75-

was () = io\‘s"c\l)**Qz \ oto =0 '{

b-¢ =0

C,\'\EQHLC’H’ \Ofk &{L - \o_:cl (l:—& =-C

< r \_~ o2 y) TSN
= “«/c (=) 1V LEy} A WX Ty J= 3

Man (ot (N £ & (Cemn (V) 2 g CE} -

z =)
e\ 0\(, 21, e20

Y, = QQMQ[\ YR vm@\~seo»\§'(i'(x’(x{

VR
vwmi"y Ly % ,gwﬁ*\ﬂg




w\'("\ L

W”%m o>
S__—-‘f“k Jusat TS

£ T CHCWR dafiecd by

T 4§ ed . @ et

x> T8 &« §o0=0 ¥xd

We o e Guaaral  SGa T AR v (9
V]

%o X" (:_(\':. ﬁ)a,n?bo&‘ﬁ \%\\l\\ﬁg.

W \
TlusK) = (%) + ook = [onw) xbsy

= — ST Wws* =Q

T(ga¥) = ©-

We Wuows Mnod TR reanr osd o A R Banx

s o sdudion.

\%mdn&wk Bocy Yt ol gglubioms O;J*ng

AN gr)r\N\ Awex + BEk {

(s i5in Oep U o T fexkbooh  pnd win

DML QUENESS DE TWE  INTHAL VALGE ?&D&)

e () = Spon S\L weN | $ar




L/,,g"ﬁT*mrHDeM%hT
Er. TR —>® B-[) 2 %)

4 =1
Fm&\nur(_ e (T) -

N \ =z b\ bB %, s drea ot W=

Y. =2 2+-954
I \ =

hor T = Z (55 € 8) : siteRy- 2(1%.%)*(—?5.0.35{

;}QM?_(L\\DM (SO \3£ “,,.ntg,\g.s.EL

Rsald  ren(T) = spoun§ Te, T% Tesg e

Bk A= (o, Te, Te,\
L [ v

= P

b (WX T & diwa C\TmT\ = 3

X

(%

&

To fed tw (RS 0 Ax= 0 (Gndall sdiow)

o
RREC(A)Y - vau(h) 1 afspan (A veing REER).

- e \‘ A "
lo fed &5 \aa uowflLHV;j o, aund e, twakbais

QRS- %\MM(E‘e;\= ?’(z‘i-'_g-sl&ls\z

(2,1, 0)

(5,1,0) F (2t-55, hs)







Ex . Ged hr(Q), vam () Ss: My, M

22
2

S(AY = A-4'

hoxe ()= JA ey A= AT

[ ) 0 | 00

s(L97 63 =) Ge)

S(00\ . (O~ g4f0 O\ . [0°})

SNt e ) o) Led)

= v (9) - 3(—\ n\ﬁ

Qo =\

fian(ax) = 3 dJM(HL\LL\ = 4.




EX: T(abw) = (20-30) t (b-So)x +(adiy’
Ao wrginy N
-1 :‘52 — (PZ. / /

Ged. hax (7Y &a»\/s‘\g D ]

b— 500 =0
6t 3% =0
, A
2_ __3 10 { 2 O
[ i -5 (D n ! -5 ©
|

2 ,B\] L 3 0

| 2
n (o 2 % \ o[ D 62 k; (ee b, 2omh
LO 4 DJ —G——e——hj

\ ¢ I
90 6LESHNM[“‘
fim (we)y = O e

O+ dim(van (7)) = Aw(P) =2

3 oiw (ram () = 2.

an(d = | 2o ~Sox xax” — Sorbxrln’]

/\_J\_/_\
=spom § m,‘ 23S

GAYD 4 070 0o =\ \\

/’\)L.CS-QM?:\lX.S W’Izgeam?‘”ﬂ"(ycg







